Manuals+ — User Manuals Simplified.

ROADSAFE RPNAV23 Recovery Tow Points Instructions

Home » ROADSAFE » ROADSAFE RPNAV23 Recovery Tow Points Instructions -

Contents
1 ROADSAFE RPNAV23 Recovery Tow
Points
2 Product Information
3 Product Usage Instructions
4 FITTING INSTRUCTIONS
5 Bolt Torque Specs
6 Documents / Resources
6.1 References

» . . i

ROADSAFE RPNAV23 Recovery Tow Points


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/roadsafe
https://manuals.plus/roadsafe/rpnav23-recovery-tow-points-manual.pdf

Product Information

The product is a recovery point compatible with the Nissan NP300 (D23) Navara 2015-on model. It is designed to
be fitted to the factory retained nuts on the left-hand side, and M12x1.25 high-tensile bolts and retained nuts are
supplied for the right-hand side. The nut plates may need to be trimmed to fit inside the chassis rail.

The tow points have been tested and meet standards up to 5000kgs per tow point. The product comes with
additional bolts and nuts, but they are not required for the NP300 application. It is important to use all supplied and
specified components during the installation of the tow points to ensure maximum safety and working load limit.

Product Usage Instructions

1. Start by fitting the tow point to the factory retained nuts on the left-hand side of the vehicle.

2. For the right-hand side, use the supplied M12x1.25 high-tensile bolts and retained nuts. Trim the nut plates to fit
inside the chassis rail.

3. To hold the tow point in place during installation, use a jack or clamp, allowing you to use both hands to hold
the nut plate and bolt comfortably.

4. Ensure that two bolts per tow point are fitted and torqued to the recommended settings, according to the bolt
torque specifications provided. This will ensure that the tow points meet tested standards.

5. If fitting with an ARB bar, use the supplied machine washers to space the rearmost hole. This step is not
required if fitting with an Ironman 4x4 Bull Bar.

6. The product comes with two bolts per side and can be mounted to the front or rear of the vehicle.

7. Always use tow points as a matched pair and team them with an equalizing bridle during any recovery

situation.

Note: It is recommended to have 4WD specialist mechanics fit the product. Manufacturer’'s names are used for
reference purposes only.

Contact Roadsafe, a division of Specialist Wholesalers Pty. Ltd., for more information:

« VIC Phone: 03 8687 1700



« QLD Phone: 07 3737 7420

« Email: sales@roadsafe.com.au

MODEL INFORMATION

o COMPATIBLE WITH PRODUCT: NISSAN NP300 (D23) NAVARA 2015-ON RECOVERY POINT
« PART NUMBER: RPNAV23

Hardware supplied

o 4 x M12x1.25 bolts
« 2 X large machine washers

Additional bolts & nuts on wire are included in the kit—but not required for the NP300 application

FITTING INSTRUCTIONS

Fitted to NP300 (D23) Navara 2015-on

1. Fitted to factory retained nuts on L/H side

2. M12x1.25 high-tensile bolts and retained nuts supplied for R/H side (nut plates will need to be trimmed to fit
inside chassis rail). Handy hint—Hold tow point in place with jack or clamp allowing use of two hands to hold
nut plate and bolt comfortably.

3. Ensure two bolts per tow point are fitted and torqued to recommended settings to ensure tow points meet
tested standards.

4. Machine washers supplied to space rearmost hole, when fitted with ARB bar; not required with fitment of
[ronman 4x4 Bull Bar.

5. Two bolts per side as supplied; can be mounted to front or rear of vehicle.

TESTED.1
PER

Bolt Torque Specs


mailto:sales@roadsafe.com.au

8.8 10.9 12.9
M10 41-60 Nm 59-85 Nm 65-94 Nm
M12 71-105 Nm 102-150 Nm 114-164 Nm
M14 112-168 Nm 161-240 Nm 182-265 Nm
M16 175-260 Nm 250-371 Nm 282-406 Nm

Ensure all supplied and specified components are used during the installation of tow points. Failure to do so will
significantly reduce the Working Load Limit (WLL) specified for each individual point, which can result in serious

injury or death.

IMPORTANT NOTE: Always use tow points as a matched pair teamed with an equalising bridle during any
recovery situation.

Roadsafe — A Division of Specialist Wholesalers Pty. Ltd. ABN 64 163 280 279 roadsafe.com.au VIC Phone: 03

8687 1700 QLD Phone: 07 3737 7420 Email sales@roadsafe.com.au

roadsafe.com.au

RECOMMENDED FOR 4WD SPECIALIST MECHANICS TO FIT. MANUFACTURERS’ NAMES ARE USED FOR

REFERENCE PURPOSES ONLY.

Documents / Resources

ROADSAFE RPNAV23 Recovery Tow Points [pdf] Instructions

RPNAV23 Recovery Tow Points, RPNAV23, Recovery Tow Points, Tow Points

References

« |l _roadsafe.com.au

Manuals+,



http://roadsafe.com.au
mailto:sales@roadsafe.com.au
http://roadsafe.com.au
https://manuals.plus/m/5fd7050062c2b29e32ddfc8767503a8bf20940853ab90fdcbdb99d6198e9fe0f
https://manuals.plus/m/5fd7050062c2b29e32ddfc8767503a8bf20940853ab90fdcbdb99d6198e9fe0f_optim.pdf
http://roadsafe.com.au
https://manuals.plus/

	ROADSAFE RPNAV23 Recovery Tow Points Instructions
	ROADSAFE RPNAV23 Recovery Tow Points
	Product Information
	Product Usage Instructions
	FITTING INSTRUCTIONS
	Bolt Torque Specs
	Documents / Resources
	References



